Quiz #2 Math 1060Q September 22, 2014

Name: Section:

You have 12 minutes to complete the quiz. Please show all work, and then write your answer
on the line provided.

1. Let f(z) = 2%+ 6z + 8
(a) Complete the square to rewrite f(z) in the form f(z) = a(z — h)? + k.
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Answer: & (X) = (\X"' 3) a‘. i

(b) Sketch the graph of y = f(z).
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(c) Give the coordinates of the vertex. Is this a maximum or minimum value?
Vb is ok (-3,-4)
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Answer:

QUIZ CONTINUED ON BACK.
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2. (4 points) The graph of a function f is given below.

____________________________

(a) What is f(2)?

Lo @) =4

(b) For what z is f(x) = 27
S-(X) =2 whn X= 1' 3, asd S

(c) For what z is f(z) < 27

4] <2 o [0, 1)v(3,5)

(d) What is the domain and range of f?

&QM&“I\ : [ o, S—]

Cang. : [0,4]
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